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Trigonometric Ratios of 30°, 45° ,60°
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Let’s Recall: sin45 %: aj! = .}2 cosec 45 ﬁ: V2
a) SnA =1_ d)CosA =1__
b)TanA =1/ e) CotA =1 : osds"= A8 _ _a__ 1 ecds = —L _— /2
c)) SecA =1/__ f; CosecA=1/__ - S - covas
- N 45° ._BC _a_ o1
) = = tan45 VAT i 1 cot45 wnds = 1
Can we find values for AB= 1a, BC=1a, AC=V2 a - U2\
. . . V3,
= o + 3 o _
different trigonometric . sineor — AR L 2T _ /3 cosces0 =l o 2
RBD < 1 1
cos 607 = AB = %— =5 sechl)” = CoRBOT 2
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In . ABD sin30° = B0 _ 2 _ % cosec30° = —L—2
AB=21,BD =0, AD=0\3 eap_ 2 4
! ! cos 30 — g - 20 -=-2-- sec 30 ---‘;053(}“-:-‘/3-
.a.
tan30° = Eg = i = 1/'3 cot30" = m“lm. =3
Example 1: Find values of given trigonometric ratios 2

with the help of given table and write True or False:

NN\
Solution:  sin90° = cos 60° Q\Q

. 0 _ 0_
sin90" = 1, cos 60= 1/_2 o o Let’s put values of all tigonometric ratios in table:
as 1#1/2, Therefore sin90 #cos60 m

Hence It's False. \J g
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Example 3: Solve: sin i ;
Example 2: Find the value of x. -p -
Solution: Solution: ] : ]
oluton: 30" fan43" 10030 sin60 e
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1 10 af B tan , noat defined
X 1.3 3 F;
z & eosee i not defimed > _‘_"2 B ]
B w3
. . z 2 S I —-—-—'2 k] 2 mol defined
sin 30° = i N v3
O SR .t dcfined | | -+ o
I 2l 2 aly)
¥ = x/10 &
X =5 i
b xRl .
R Now try these:
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Let’s learn a trick to remember Q1. Write True or False: a) sin 60° =cos 30°  b) sin45° =cos 45°
values of trigonometric ratios: c) tan 60° = cot 60° d) cosec30° = cot 30°

Q2. In rt. A ABC, right angled at B, AB=5cm and ~ACB =30°.

: Determine the length of the sides BC and AC.
Jore e s i Jan
Sinfl i 1/2 12 1 Q3. Find all the trigonometric ratios for the following triangle:
Lost 1 - B 1/t (1]
Tant it 1/93 1 iE o
Coth -] Wi 1 1473 0
ol 1 2443 2 z w
Cosech o z 42 243 1




